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Sleyenrser : (1) marss eNaméserd sflurst vdleurdl o arensT ereuganat sAUMTSS)6
Qsmarereyd. FsLILS el GapulmiiGer, Sienné SemamentliumenflLLD
2 |eniqin&s Gsflelésab.

(2) Beowd edegs &sGLY ool@oa LLECL  TWSMSHELD

<3 6CaTyHausnGL LuaTu(BSs Couam@b. ULB&GE cumyausnE
Quendléd LweTLHSSeyLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

@My : Gseveuwrar @L e LLLD quenhg FwemLm{Emer GT(LPS G LD.

Note : Draw diagrams and write equations wherever necessary.

u@S) - I/ PART - I

GOy : () Sewessl lanmss@sEn N walsseb. 15x1=15
(i) OGer@ssiuulGerar ML eleL_said Wlaeyb erherLw efamLmws
Cambeshssis GHuiLGrer eflamLulaemnyb Gamgg) er(psayLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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~I ellenerellenan sm Heug :

(1) -l (@) -Br (&) (=) wpmid (<) () —CHg
—1I effect is shown by : |

(a) -c1 (b) -Br (c) both (a) and (b) (d) —CH,

Slesmeu (meuaeuhmieT ersdlebafled (CoHy) STemTiiL@d smiLe 56558 M@& &LoLmer
HMTUCT F56is5me QuhmETeTg eTg ?

(1) Quenée (<) yriiden (&) m&Csan () rréangan
Which of the following compound has percentage of Carbon same as that in Ethylene
(CoHy) ?

(a) Benzene (b) Propene (c) Ethane - (d) Ethyne

@ailiips Fld asrivear-oL-odmen() aumyeiler seydpear  ereueumm
<idsflEsond ?

(<) SWsssdlmar Gmpss (<) sar sierefloven <ifsfss
() sysspBom 2dsfss  (w) Qaphléd gafdma
Solubility of carbon-di-oxide gas in cold water can be increased by :

(@) decrease in pressure (b) increase in volume

(c) increase in pressure (d) none of these

wenpffler pH i :

(<=1) 5.6 (=) 6.5 ’ (&) 4.6 (FF) 7.5
The pH of Normal rain water is :
(@) 5.6 (b) 6.5 (c) 4.6 (d 7.5

senpilar [D,0] Qardane

(=1) 375.4 K (=1)373.4 K (&) 376.2 K (FF) 374.4 K
The boiling point of heavy water [D,0] is .
(a) 3754 K (b) 3734K (c) 376.2K (d) 3744k
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| 3 | 6722
gamm| (A) : - USSP pEFD LTI ETHSS STanid ClETERTL ).
STeueTd (R) @ igan Weamrliy posamm <MNALLrld Qran® sealss
GTSLITMENSET STewTLIL (Hdlemment.

(1) gampm (A) &7 yeTed SMrewd (R) seuny.

(<) Sadmi (A) wHmib smrewTd (R) Qran@ib s Guogib SIrewtid (R) <4am8 Sanml
(A) -ssnen sflwmen eleTHsD @M.

(@) smpmi (A) wHYID MWD (R) Qran®Bid seum.

() &nbml (A) LHMID SMFEwID (R) @rear(Hib s oLamed Snrewtd (R) <3618 Sanm)
(A) -&aner sflwme eSlaT&awea .

Assertion : Oxygen molecule is Paramagnetic.

Reason : It has two unpaired electrons in its bonding molecular orbital.

(a) Assertion is true but reason is false.

(b) Both assertion and reason are true and reason is the correct explanation of
assertion. '

(c) Both assertion and reason are false.

(d) Both assertion and reason are true but reason is not the correct explanation
of assertion.

&CermGrmoeLmiid, enpliflé oled gL ebt aﬁ]mmqrﬂj@ SHeUS -
(=1) GCarrCrm WaMen (=) @B Crm QLngyeSen
(@) GCearrGrm 195M& <eb () Bl Crm Heflafen
Chloroform reacts with Nitric acid to produce : '

(a) Chloropicrin (b) Nitro toluene

(c) Chloropicric acid (d) Nitro glycerine
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8.

10.

Qemeumeuamaupmer HGrmGLLIgS semaweamw GupmeTarg 6gl ?

(1) | (<)

(@) @ | () (=) wppid (<)

Which one of the following is aromatic ?

(a) © (b

(c) (d) . both (a) and (b)

g Qauliu, <iwss Hoowed, em GHUALL aryelear alrasd aigb,
eBL_TRenad SMig@ib 0.5 L kiE SHE S erefle) HGGHAL eumwyellen Gomeomir
Bleom

(=) 114 gmol~! (<) 112gmol~! (§) 120 gmol~! () 110 g mol~!
An unknown gas diffuses at a rate of 0.5 times that of Nitrogen at the same

temperature and pressure. The molar mass of the unknown gas is
(a) 114gmol™! (b) 112gmol~! (¢) 120gmol~! (d) 110 gmol~!

sarFle Fouah(®h LITeU B(DSSSMS () S(HLD FoeTum( :

(<) mv=nRT (<) TRT=n

(§) m=nRT () Qoupdled ergiflevaney
Osmotic pressure (m) of a solution is given by the equation :
(a) mwv=nRT (b) wRT=n

() w=nRT (d) none of these
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11.

12.

13.

14.

Xl - MARCH 2023

5
Gamig wiib ) C‘éa&ésasuu@éﬂm@.
(<=1) werorQ et @ ey (<) pdsanme
(&) o () i
Sodium is stored in
(a) Kerosene (b) Alcohol
(c) Ether (d) Water
Wemeu(meuameunmiar org Qeuliu @uidsedwed sy e ?
(<=1) erem’ Gymq () =8 Y HoeD
() 2rmie) < pmed () eremgmentsl
Which of the following is not a thermodynamic function ?
(a) entropy (b) internal energy
(c) frictional energy (d) enthalpy

OH

| e o .
CHj3~CH-CH,—CH=CH-CH; Gs&fogglen IUPAC Gl :

(=1) Qamdev —2 — FFeiT — 4 — ped (<) Qamden —4 — T — 2 — BLed
(@) Camdev —2 — Frer—4 —3jed (rF) Gem&en — 4 — Frer — 2 — 6
The IUPAC name of the compound

OH
|
CH,— CH—CH,~CH=CH—-CHj :

(a) hex-2-en-4-ol (b) hex-4-en-2-ol
(c) hex-2-en-4-al (d) hex-4-en-2-al

iam) eram 222 - AsmamL saflngdern [UPAC QL erdraneuns Gma@n ?

(1) didibium (<) bibibiium (@) bibibium . (rF) bididium
What would be the IUPAC name for an element with atomic number 222 ?

(a) didibium (b)  bibibiium (c) bibibium (d) bididium
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15. n=3 arap WL GaurarLLd eramamear’s QuHMHEED < mdlLresafler
Clomgs eramenféans :
(<) 5 ()9 (@) 7 (W) 8

The total number of orbitals associated with the Principal Quantum Number n=3
is :

(a) 5 (b) 9 , (c) 7 d) 8

L@d) - II / PART - II
GO0y : aemauCuenid oy oflarrés@nas aﬁ]eml_umﬂa;a;mm eflem eramr 24 -5
sLLmurs elenwalsseayb. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.

16. <58nCGahpid whmib <&dndr @RHdsh — Caumu(pssis.

Distinguish between oxidation and reduction.

17. Gapuisamuisdler fésuwpns samw Camum qmes gmmns.

State Heisenberg’s Uncertainty principle.

18. wunffev smpgledlen LwaEmers GHUEGHs.

Mention the uses of Plaster of Paris.

19. &S-griclwflen sgicusdlenans samis.

State Le-Chatelier principle.

20. Feugy,(h LITEIEY B(PSSLD — U TILMIGSLD.

Define Osmotic Pressure.
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21. lﬁ]ehm@mm@@g‘ﬂ@@ onisv ewlienL cumys.
(i) H,0 (i) HNO,
Draw the Lewis structure for :

- (1) HyO (ii) HNO,

22. QfLé-ymil elererenwits bl Am @AY TIPS

Write short notes on Friedel Craft’s Reaction.

23. gger wrsUBSHEET eTamPTD 6remasr ? THSHEETL(H SHS.

What are Particulate Pollutants ? Give example.

24. 0°C Qeutiufleneoufled 1 Gomed ualésiy byms o mEn Curg Hlewpn e Gyl
LTHNSMSS SamsdHs. ualssiguiler GoreorT o (hGse Q@_H_'Ju &l Ly
6008 J mol~1.-

Calculate the entropy change during the melting of one mole of ice into water at
0°C and 1 atm pressure. Enthalpy of Fusion of ice is 6008 J mol~ 1.

L&) - III / PART - III

GOy : aemeauCuenid S elamésErsE oL waldseayb. elam aar 33 -&s
sLLmuwns aflen_wefl&Esea . 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. o salnGanm erawmr apenmuiled 1Geeu(mHd elenanseanar Foem GFls.
(i) KMnO,+Na,SO, — MnO, +Na,SO, + KOH
(i) Cu+HNO; — Cu(NOg),+NO,+H,0
Balance the following equations by Oxidation Number Method.
(i) KMnO,+NaySO; — MnO, +Na,SO, +KOH
(i) Cu+HNO; — Cu(NOj),+NO,+H,0
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s

26.

27.

28.

29.

30.

31.

32.

(WPgeTento @eumenr_tb eret LPO Fm GO cuenrys.

Write short notes on Principal Quantum Number.

eperaeil L QgrLmdeme aﬁ]mrﬂé;a;mfo;

Explain the Diagonal Relationship.

LTI ev@mL_senet ereueumml <, 16GCaT eanl rmens wrhmieurit ?

How do you convert Para hydrogen into Ortho hydrogen ?

Beoedlwiedl| eumF e enl. eu(med.

Derive Ideal Gas equation.

Henavsemiyser wpmib uflFemiyser eramprad erarar ? Qe T (HSSIGSTL (D &6
&(H%. ‘ |

What are State and Path Functions ? Give two examples.

C,H;Cl eraim epa@&sam eumiur® o e uwl (A) ererm Gafolbd Bflu KOH o gy
eflenaryfing (B) eremp Gefogansid, <osantéd sopbs KOH o e aﬂmmqrﬂmgﬂ
(C) ererrm GambEMSWD Hmdaper. (A), (B) LOOHMILD (C) -8 STl M.

An organic compound (A) with molecular formula CQH Cl reacts with aqueous

KOH and gives compound (B) and with alcoholic KOH gives compound (C). Identify
(&), (B) and (C).

grarLe elleneranel $GbhS THSHSETL(H Shgl 6NeTéEs.
Explain inductive effect with suitable example.
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33. Sipésam CafomisEniE Sl aumium L T(PSIS-
(1) m-eL enpl Gy Quendern
(ii) p-ovL GGarrGyr Quenden
(iii) 1,3,5 - yeoy Qg Quiena
Write the structural formula for the following compounds.
(i) m-dinitro benzene

(ii) p-dichloro benzene

(iii) 1,3,5 trimethyl benzene

@Sl - IV / PART - IV

GO : Siemengg ellammésens @i allenLwiafl&saib. : 5x5=25
Note : Answer all the questions.
34. (=) gaflo L@UUTeSld gm Gaiob Geamaumbd sre|samern &HEMG. Na=14.31%,

§=9.97%, H=6.22%, 0=69.5%. G&ingdaicrer QDL TG (Lp(LPGUFILD,

2 &fmaar Carbg Lgs Brrs Qms8ng erafle, Gemogden epasanm)

eumiLImLenL & srewms. (Garogdler apadamm Hlanp 322)

9160605
(=) () Quered sellisenss gg@mgﬁmmé &),
(i) meiar peuissan eldews anms.

(a) A compound on analysis gave Na=14.31%, S=9.97%, H=6.22%, 0=69.5%.
Calculate the molecular formula of the compound, if all the Hydrogen in the

compound is present in combination with Oxygen as Water of Crystallisation.
[molecular mass of the compound is 322]

OR
(b) (i) State Pauli Exclusion Principle.

(ii) State Modern Periodic Law.

[ @@L‘L«IE / Turn over
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35.

36.

37.

(=) () mCerGLriiyser (wrpHlukiser) eatpre eremer ? eman L efl e
pCanGLmiiysaien QUWITEMET 6T(HE!S.
(i) sroOHugHer LLETEMETS S(HE.
LIV
(<) euraLit qumédeiv wmhledaemers Qaram® Hlevewrp wrblelsEemers &(mp6.
(a) (i) What are Isotopes ? Write the names of Isotopes of Hydrogen.

(1i) Give the uses of Calcium.
OR

(b) Derive the values of Critical Constants in terms of Vander Waals constants.

(=1) Geulin Quisselweler @rearmbd elfuliar LOGaN FDYISDETS FoDis.
3{6V60G|
(=) () Hleop sréEs geamwis .
(ii) Gamemdl elldlufler eurbLGeT Wimened ?
(a) State the various statements of Second law of Thermodynamics.
OR

(b) (i) State law of Mass Action.
(iij What are the limitations of Henry’s Law ?

(1) epodaam ML dsmatansuflen sl Sbsrisemer cleufésayib.
{6060 _
(<) (i) &l Cemomsafler Qurgil uaTyseT gGaaib apemblaner 6r(pg)s.
(i) Yemeupd Camomsafler o drer eflmartlawd GgrEdulimans sar_ifs.
(A) SSlLmegaman
(B) <255MedldE ojeuid
(C) e Gwgdled maim

(D) Gwsde e
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Explain the salient features of Molecular Orbital theory.

(1)
(1)

OR
Give any three characteristics of Organic compounds.

Find the functional group of the following compounds.
(A) Acetaldehyde

(B) Oxalic acid .
(C) Dimethyl ether
(D) Methylamine

(1) Quenden eieniolignL] LBl efleuf saeyLb.

{6060
CH3Mgl -6 Qg ﬂmm@mvmmmmm ereveumm swimAliinmd 7
(A)  ersdled opdaanme
(B) <8l Lrévgenan(
(C)  ergdler Qs g

anhgl Gurse (Eutrophication) CTENDITE) GTedTen 2

Explain the structure of Benzene.,

38.
(=) (1)
(ii)
(a)
(b) (i)
(1)
B

OR
Starting from CH;Mgl, how will you
(A) Ethylalcohol \
(B) Acetaldehyde

prepare the following ?

(C) Ethyl methyl ether
What is Eutrophication ?

-00o0-
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